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BE THE NEXT GENIUS

Hindi Class 4 Sample Question:

English:

Q1 Australia is a continent. (Identify the type of the underlined noun.)

(A) Collective noun
(B) Common noun
(C) Abstract noun
(D) Proper noun

Fill in the blank with the suitable collective noun from the given options:
Q2 Fill in the blank with the correct option:

A of people gathered at the meeting.

A) flight

B) herd

C) Crowd
D) swarm
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Q3 The Himalayas are the highest of snow-covered mountains in the
world.

(A) shoal

(B) row

(C) volley

(D) Chain




Q4.Choose the odd one out from the given options.
Mumbai, Lucknow, Metropolitan, Patna.

(A) Lucknow
(B) Metropolitan
(C) Mumbai
(D) Patna

Q5 Could you pass me salt, please?
A) a

B) an

C) the

D) none of these
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Q6. Tsh HEAT H 8 I Je i kel I I8 S 81 Sicil & | T8 T&IT FAT 57

Q7 quitert @1 a8 & o1 a faraw)
19, -27, 32, -17, 15

A) 32, 19, 15, -27, -17
B) 32, 15, 19, -27, -17
C) 32, 19, 15, -17, -27
D) 32, 19, -27, -17, -15

Q8. TTeTE & T §oTR 7S e T FIFT 2000 FI § 3R §757+T o TohIaTE H 718 5¢ WG
o1 el fohaT| 3egiat cllet §oTR $¢ TUIET | 3HeT St o ToIT feheeT ST eprar?
a) Rs 60000 (b) Rs 6000 (c) Rs 8000 (d) Rs 2000




Q9 1 fhell ITGER T AT 5 F9 & | 0T 42 fhell IT@ER o TIT FeheleT $JaTcTeT ahiafr?

(@) Rs 110
(b) Rs 425
(c) Rs 420
(d) Rs 210

Q10 mﬁwmgﬁmémmmaﬁrwaﬁqﬁl 3AH ¥ Ueh 272 QAT oaT 24T
wmﬁﬁéﬁﬁ%m%lwﬁﬁ?ﬁﬁ#

(a) 142 cm
(b) 172 cm
(c) 135 cm
(d) 136 cm
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Q23. FHTYY W AT A & FoIw 3uNer fRar i1t arelr Aieda] gl

(T) 9

() HerpoeleX
() fasrer
(3N) A

Answers:
1D 2C 3D 4B 5C 6D 7C 8B 9D 10D M1.C 12.C 13.C



14.A 15C 16.B 17.C 18A 19B 20.A 21.C 22B 23.B



